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When you set up a copy data action, what must you do to allow the user to select the source and target
version?

A. Create a parameter for the source version.
B. Add a copy rule for version.
C. Create a parameter for the target version.

Answer: C

Which dimension types support the system-generated Person Responsible property? Note: There are 2
correct answers to this question.

A. Account

B. Organization

C. Generic

D. Version

E. You created a private version.

Answer: BD

Which options can you use to let other users adapt this plan data? Note: There are 2 correct answers to
this question.

A. Share

B. Publish As
C. Copy

D. Submit

Answer: AD
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You imported a transaction data file into an empty model with the results as shown in Figure A.Later, a
member of the finance team wants you to import a new data file. In the new data file, you find the
following differences:The value of the Labor account has increased to 1600.There is a new record for the
Services account, with a value of 250.The record for the Travel account has been deleted.To achieve the
result shown in Figure B, which option must you use to update the data?

Fig. A

A. Update

B. Append: Reject duplicated rows in model

C. Clean and replace selected version data

D. Clean and replace subset of data with Scope = Version and Account

Answer: C

You have labor hours in an expense model and labor rates in the HR model. To calculate and store labor
values (labor hours x labor rates) in the expense model, what must you do? Note: There are 2 correct
answers to this question.

A. Copy the labor rates into the expense model.

B. Look up the labor rates in an advanced data action.

C. Blend labor hours and labor rates in the story.

D. Include the labor hours and labor rates in a dimension formula.

Answer: BD
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You want to create an input task using a story based on a planning model.What are prerequisites for this
scenario? Note: There are 2 correct answers to this question.

A. The model has a private version.

B. The model contains private dimensions.
C. The story is shared.

D. The model is shared.

Answer: CD

What is required in an allocation process to allocate HR expenses with a unique account number
(Human Resources) as shown in the attached image?

= —

Before the allocation

After the I||Dﬂ!

G tion
A. Booking account
B. Allocation account
C. Target account
Answer: B
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